* Decimal addition

Werite the sum for each problem.

1 1 11

296.48 73.00
+131.70 +269.23
42816 542.23

Write the sum for each problem.

491.83 964.71 32.045 306
+ 37.84 +321.2 +204.99 + 844.24
471.932 842.01 675.82 37.82
+ 755.26 + 11.842 +105 +399.71
65.24 178.935 184.70 443.27
+ 605.27 +599.41 +372.81 + 75
563 703.95 825.36 529.3
+413.98 + 85.11 +249.857 +482.56

Write the sum for each problem.

421 + 136.25 = 92.31 + 241.73 =
501.8 + 361.93 = 558.32 + 137.945 =
27 + 142.07 = 7531 + 293.33 =
153.3 + 182.02 = 491.445 + 105.37 =
253.71+ 62 = 829.2 + 63.74 =

© Dorling Kindersley Limited [2010] E!SC H 0 0 LS



* Decimal addition
Write the sum for each problem.
11 11
296.48 73.00
+131.70 + 269.23
428615 542.25
Write the sum for each problem.
491.83 964.71 32.045 306
+ 37.84 +321.2 +204.99 +844.24
529.67 1,265.91 257.035 1,150.24
471.932 842.01 675.82 37.82
+ 755.26 + 11.842 +105 +399.71
1,227.192 553.652 780.82. 43753
65.24 178.935 184.70 443.27
+ 605.27 +599.41 +372.81 + 75
©70.51 778.245 557.51 516.27
563 703.95 825.36 529.3
+413.98 + 85.11 +249.857 +482.56
976.96 769.00 1,075.217 1,011.66
Werite the sum for each problem.
421 + 136.25 = 557.25 92.31 + 241.73 = 554.04
501.8 + 361.93 = 863.73 55832 + 137.945 =  ©696.265
27+ 142.07 = 169.07 75.31 + 29333 =  368.64
153.3 + 182.02 = 535.52 491.445 + 105.37 = 596.5615
253.71+ 62 = 515.71 829.2 + 63.74 = 592.94

Watch out for misalignment when children work on horizontal additions.
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